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int main(void)

{

int array[10]; [/ HHE &

array[0]=10;
array[1]=20;
array[2]=30;

return O;
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int main(void)

{
int arr1[5]={1, 2, 3, 4, 5};
intarr2[ 1={1, 3, 5, 7, 9};
int arr3[5]1={1, 2}

}

intarr1[5]=1{1,2,3,4,5}:
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char str2[]="morning";
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int main(void)

{
char str[100]="Hello World!”;

printf(“%s Wn”, str);
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int arr1[4]; arr2[0][0] arr2[0](1] arr2[0][2] arr2[0][3]
int arr2[3][4];
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arr2[1][0] arr2[1][1] arr2[1][2] arr2[1][3]
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0x1000
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int main(void)

{
int a[5]={0, 1, 2, 3, 4};
int b=10;
a=&b; //aE A$0|B2 28, adt HLe/JACHH OK!
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double arr2[20] - double*
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#include <stdio.h>

int main(void)

{ ° > 0 1 2
int arr[3]={0, 1’ 2}; arr arr[0] arr[1] arr[2]
int *ptr; -

’/
ptr=arr;
ptr

printf("%d, %d, %d Wn", ptr[0], ptr[1], ptr[2]);
return 0;
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/* pointer_op.c */
#include <stdio.h>

int main(void)

{
int* ptr1=0;
charx ptr2=0;
double* ptr3=0;

return O;
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/] intx ptri=NULL; 2} 22 &&
// charx ptr2=NULL; I} 22 2%
// doublex ptr3=NULL; 1} 2

printf("%d B1 X, %d S X|, %d B X| Wn", ptr1++, ptr2++, ptr3++);
printf("%d B1 X, %d S X|, %d & X| Wn", ptr1, ptr2, ptr3);
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/* pointer_array3.c */
#include <stdio.h> 0x1000

int main(void)

{ 0x1004
int arr[56]={1, 2, 3, 4, 5};

int* pArr=arr; 0x1008
printf("%d Wn", *pArr);

printf("%d Wn", *(++pArr));
printf("%d Wn", *(++pArr));

0x100c

printf("%d Wn", *(pArr+1));

0x1010
printf("%d Wn", *(pArr+2));

return 0;
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intx arr1[10];
doublex arr2[20];
char* arr3[301;

int % arr1 [10];
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int main(void)

#include <stdio.h>

arr[0]

int a=10, b=20, c=30; arr[1]
intx arr[3]={&a, &b, &c};

arr[ 2]

printf("%d Wn", *arr[0]);
printf("%d Wn", *arr[1]);
printf("%d Wn", *arr[2]);

return O;
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/* str_arr.c */
#include <stdio.h>

int main(void)
{
char* arr[3]={
"Fervent-lecture”,
"TCP/IP",
"Socket Programming”
Y
printf("%s Wn", arr[0]);
printf("%s Wn", arr[11);
printf("%s Wn", arr[2]);

return O;

char * arr[3] = {"Fervent-lectur","TCP/IP","Socket Programming"};

|

char * arr[3] = {0x1000, 0x2000, 0x3000};

arr[0]

arr[1]

arr[2]

Y

"Fervent-lecture" |

> "TCP/IP"

Y

"Socket Programming" |
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